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1. उस संख्या का चयन कीजिए, िो ननम्नलिखित 
श्रंििा में प्रश्न चचह्न (?) को प्रनतस्थापित कर सकती 
हैl 
17, 20, 15, 22, 13, ? 
A. 2 
B. 4 
C. 24 
D. 22 
 
2. चार शब्द ददए गए हैं, जिनमें से तीन ककसी प्रकार 
से समान हैं, िबकक एक लिन्न है। लिन्न शब्द का 
चयन करें। 
A. सदाचार 
B. धालमिकता 
C. सत्यननष्ठा 
D. आचरण 
 
3. ददया गया वेन आरेि एक सकि स में किाकारों को 
प्रदलशित करता है: 
त्रििुि िोकरों को प्रदलशित करता है, वरत्त किाबािों को 
प्रदलशित करता है, आयत िुरुषों को प्रदलशित करता है 
और वगि ररगंमास्टरों को प्रदलशित करता है। आरेि में 
दी गई संख्याएं उस पवशेष शे्णी में व्यजततयों की संख्या 
को दशािती हैं। 

 
ककतने िुरुष िोकर ररगंमास्टर हैं, िेककन किाबाि नही ं
हैं? 
A. 17 
B. 5 
C. 11 
D. 15 

4. दी गई उत्तर आकर नतयों में से उस उत्तर आकर नत को 
चुननए जिस में प्रशन आकर नत ननदहत है | 

 

A.  

B.  

C.  

D.  
 
5. उस पवकल्ि का चयन करें जिसमें यह दशािया गया 
है कक कागि की िारदशी शीट कैसे ददिाई देगी िब 
इसे त्रबन्ददुार रेिा िर मोडा िाएगा? 

 

A.  

B.  

C.  

D.  
 
6. एक घन को दी गई शीट को मोडकर बनाया गया 
है। घन में, ननम्न में से कौन से प्रतीक पविरीत िक्षों 
िर होंगे? 
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A. @ और % 
B. & और % 
C. # और @ 
D. $ और + 
 
7. उस आकर नत का चयन करें िो ननम्नलिखित श्रंििा 
में प्रश्न चचह्न (?) को प्रनतस्थापित कर सकती हैं। 

 

A.  

B.  

C.  

D.  
 
8. चार शब्द ददए गए हैं, जिनमें से तीन एक िैसे हैं 
और एक अिग है। पवषम शब्द का चयन करें। 
A. एलशया 
B. अफ्रीका 
C. यूरोि 
D. रूस 
 
9. दी गई आकर नत में ककतने त्रििुि हैं? 

 
A. 12 
B. 13 
C. 15 
D. 18 
 
10. ननम्नलिखित प्रश्न में एक या दो वततव्य ददये 
गये है, जिसके आगे दो ननष्कषि/मान्यताएं, I और II 
ननकािे गये हैं | आिको पवचार करना है कक वततव्य 
सत्य है चाहे वह सामान्यत: शति तथ्यों से लिन्न प्रतीत 
होता हो | आिको ननणिय करना है कक ददए गए वततव्य 
में से कोन-सा ननजश्चत रूि से सही ननष्कषि/मान्यता 
ननकािा िा सकता है? 
कथन : 
गरीबी, सामाजिक अव्यवस्था का िक्षण एवं िररणाम 
है | 
ननष्कषि : 
I. गरीबी सामाजिक व्यवस्था का एक प्रकार है| 
II. गरीबी सामाजिक व्यवस्था से सम्बजन्धत है| 
A. केवि ननष्कषि I सही है | 
B. केवि ननष्कषि II सही है | 
C. दोनों ननष्कषि I और II सही है | 
D. ना तो ननष्कषि I सही है और ना ही ननष्कषि II 
 
11. Read the passage and answer the 
questions that follow: 
To the great delight of children, schools were 
being hurriedly closed, Children of all ages 
and sizes were running helter-skelter, 
screaming joyously, ‘No school, no school. 
Tiger, tiger!” They were shouting and 
laughing and even enjoyed being scared. 
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They seemed to welcome me. I felt like 
joining them, and bounded away from the 
restaurant door and trotted along 
with them, at which they gleefully cued, “The 
tiger is coming to eat us: let us get back to 
the school!” 
I followed them through their school gate 
while they ran up and shut themselves In the 
school hall securely I ascended the steps of 
the school, saw an open door at the far end 
of a veranda, and walked in. It happened to 
be the headmaster’s room. I believed, as I 
noticed a very dignified man jumping on his 
table and heaving himself up into an attic. I 
walked in and flung myself on the cool floor, 
having a partiality for cool stone floor, with 
my head under the large desk — which gave 
me the feeling of being back in the Mempi 
cave .. As I drowsed. I was aware of cautious 
steps and hushed voices all around. I was in 
no mood to bother about anything. All I 
wanted was a little moment of sleep: the 
daylight was dazzling. In half sleep I heard 
the doors of the room being shut and bolted 
and locked. I didn’t care. I slept. While I slept 
a great deal of consultation was going on. I 
learnt about It later through my Master, who 
was in the crowd - the crowd which had 
gathered after making sure that I had been 
properly locked up — and was watching. The 
headmaster seems to have remarked some 
days later, “Never dreamt in my wildest mood 
that d have to yield my place to a tiger.” A 
wag had retorted. “Might be one way of 
maintaining better discipline among the boys.” 

What probably caused the greatest 
excitement among the children? 
A. Learning that the school would be closed 
B. Seeing a tiger getting into the school 
C. Watching the tiger run after them 
D. Knowing the tiger was coming to eat them 
 
12. What was the tiger’s reaction to the 
frenzy around him? 
A. He just wanted to sleep. 
B. He wanted to go back to his cave. 
C. He looked for someone to attack. 
D. He was afraid of being caught. 
 
13. Where was the tiger just before he ran 
towards the school? 
A. In a cave 
B. In the forest 
C. In a restaurant 
D. At the zoo 
 
14. Which word describes the tone of the 
narrative when the headmaster’s reaction to 
the tiger’s arrival is mentioned? 
A. Humorous 
B. Intimate 
C. Solemn 
D. Threatening 
 
15. What did a mischievous person say about 
the headmaster? 
A. He should keep the school closed for 
some time. 
B. He should allow the tiger to sleep 
peacefully. 
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C. The school would be better managed by 
the tiger than by him. 
D. He should leave the place and go because 
of his fear of the tiger. 
 
16. In the sentence identify the segment 
which contains the grammatical error.  
The both children go to the same school. 
A. The both 
B. children go 
C. to the 
D. same school 
 
17. In the sentence identify the segment 
which contains the grammatical error.  
We had a long discussion at a cup of coffee. 
A. of coffee 
B. at a cup 
C. We had 
D. a long discussion 
 
18. Find a word that is the synonym of- 
DEIFY 
A. face 
B. worship 
C. flatter 
D. challenge 
 
19. Find a word that is the synonym of - 
FATUOUS 
A. fastidious 
B. fantastic 
C. funny 
D. silly 
 

20. In the following question, out of the given 
four alternatives, select the alternative which 
best expresses the meaning of the 
Idiom/Phrase.  
To fall flat A. To flatter 
B. To fall in love with someone 
C. To have no effect 
D. To give bad news 
 
21. Select the most appropriate meaning of 
the given idiom. 
Go for a song 
A. one's favourite music 
B. happy go lucky attitude 
C. sold cheaply 
D. something which is prohibitively expensive 

22.  का सरिीकर त मान तया है? 
A. cosec A 
B. sec A – tan A 
C. cosec 2A 
D. tan A – cosec A 
 
23. Sin θ = 20/29, तो Cos θ का मान तया होगा? 
A. 29/21 
B. 21/29 
C. 21/20 
D. 20/29 
 
24. यदद 10-अंकीय संख्या 897359y7x2, 72 से 
पविाज्य है, तो y के संिापवत सबसे बडे मान के लिए 
(3x - y) का मान तया होगा? 
A. 8 
B. 3 
C. 7 
D. 5 
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25. 18 टेबि िंिें 11,664 रुिये में बेचने स ेएक 
आदमी को 10% की हानन होती है। 10% का िाि 
अजिित करन ेके लिए उस े17,424 रुिये में ककतने िंिें 
बेचने चादहए? 
A. 22 
B. 23 
C. 18 
D. 20 
 
26. िाना िकाने के तेि की कीमत में 25% की वरद्चध 
होती है। समान बिट को बनाए रिने के लिए एक 
िररवार को अिनी िित में ककतने प्रनतशत की कमी 
करनी चादहए? 
A. 30% 
B. 20% 
C. 70% 
D. 80% 
27. एक व्यािारी के िास 960 कक.ग्रा. चावि थे | 
उसने इसका एक दहस्सा 20% िाि और शेष 8% 
िाि िर बेच ददया, इससे उस ेकुि 12% मुनाफा हुआ| 
उसने 8% िाि िर ककतना चावि (कक.ग्रा. में) बेचा? 
A. 460 
B. 560 
C. 540 
D. 640 
 
28. एक िानी का नि ककसी टब को ‘p’ घंटे में िर 
सकता है और नीचे िगा लसकं उस े‘q’ घंटे में िािी 

करता है | यदद p < q और नि व ्लसकं दोनों िुि े
हों तो टब ‘r’ घंटे में िरेगा, तो – 

A.  

B.  

C.  
D.  
 
29. एक कस्ब ेमें िुरुषों और मदहिाओं की कुि संख्या 
70,000 है। यदद िुरुषों की संख्या में 6% और 
मदहिाओं की संख्या में 4% की वरद्चध कर दी िाए, 
तो शहर में िुरुषों और मदहिाओं की कुि संख्या 
73520 हो िाएगी। कस्बे में िुरुषों और मदहिाओं की 
आरजम्िक संख्या के बीच अंतर तया है?? 
A. 1800 
B. 2000 
C. 1400 
D. 1500 
 
30. सुधा अिनी आय का 15% बचाती है। यदद उसका 
व्यय 20% बढ़ता है और बचत में 60% की वरद्चध 
होती है, तो उसकी आय में ककतने प्रनतशत की वरद्चध 
हुई है? 
A. 35 
B. 24 
C. 30 
D. 26
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